Puc. 1 - Cxema TensfioBoM CeTU KOTenbHOM r. SICHbIA

&5 Lz:\

"
2
W
e g | L=179.4m L=67.7y
=60.2 =93.2 -«
=170.7 -
n. Napkosas — L: -
¥ L=216§ Tt 0
= g F L=48.0m
L=198.03 - i
o
s
mer— o .
Hos
g
5 o o i
3 : 3
H Z
; i XyTOPCKOE Ki Ler
g g apramenta =493 7 4m
' h
o
s L=89. L=147.4m
& 000! -
=51.7;
n
2
" | 7 Ls:
| 3063,
=57.4y
|
=]
L — 0 ; yn. Nenna -
- yn. Jlennna
yn. Jlenuna i ’ L=69.5y
e — § . s o
148 7.9
' 3 o5 T
™I
W
o &
joe nomeLy. g o —
F Y0 I0xnagn
8 L=1338 -
g n ;
g s Y
3 -
]
©
13
ES
30! -

AR
\f’\ '
' 6“ ‘B'“\



